H Z51-05
1. Make a complete tree diagram for the following information: O
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Identify events like OIL+ in the tree and their probabilities (don't reduce). _{ 77A C
2. From your tree determine

a. PCInoO) = o Prylonc) =/~ 4H1 =08

P(OIL) =04
P(+ | OIL) = 0.9
P(+|noOIL)=0.2

b. P(+) = P(O/&‘YLJ%P@/ZC‘%) _‘.‘.-’;bf/ ,9 fa( L

c. P(OIL|+) = P@/K_f = . 7 fﬁ

Pc7) Tt 6 F e
3. If events A, B are independent and satisfy gﬁ\
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4. A random equal probability sample of n = 100 has
X =254 s =10.6

z
a. Margin of error for sample mean = / ?< U—’ - / / 5 U/ﬁ?—

b. Around what percentage of the time will the population mean yu be covered by the
sample interval ¥ + margin of error?
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5. Calculate the sample sd s for the followin data n't reduce) mﬂg A<
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